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1 riad in

: chine (or function machine) is
) A amafhzmahcul rule which

Yo e Mm o number info another.
S 3 s imes this rule can involve
0 50 : ore processes-
.~ This number machine

i % +akes a number IN one

4 side doubles it then adds
, 3 and pushes the answer
el OUT the other side.

21

The number 8 is puf IN :-
19 comes OUT

i, Look again at the function machine above.

What comes out when you put in the number -
0 1 (i) 10 (iii) 25 (v) 23 w 02
put in fo produce the answer i-

(iii)) 333 (iv) 96 (v) 2182

a

b What number must have been
M 9 (i) 27

2. Hereis a new function machine.

e when you put in the number i~

a What comes out of this machin
0 9 @) 12 (i) 8% @ %t
b What number must have been put in fo produce the gnswa.r' 3 ) 2982
0 16 (i) 43 (i) 34 ) £2
 comes OUT

3
Look ot these number machines. Write down what numbe
a b

f
E shis is page 107

%2 - Chapter 11
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4. Here is another number machine.

(Read the question carefully).

get the following numbers OUT :-
a 5 (theanswerisNOT9) b

What number must have been put

: 6. Write down the missing number (or sign) in each machine below :-

7. Write down five di

numbers to make
When 100 is put in,

CfE Book 2p - Chapter 11

What number must have been put IN fo

fferenf sets of signs and
o L hthvs number machine produce

17 c

5. Look at the number machines below.

IN :-

this is page 110





